04 12 19

G )
1,131 | 1,131 | o | 0| 0 0
R3 RS R7
5 100
5 100 100
20
0 81
0 81 81
1
95 100
95 100 100
12,690
0 32
0 8 2
21,509
100
0 63 100

27,000




1.5km

R3 R5 R7
6 100
0 0 100
1.5 100
0 50 100

4,5




R03 |R04 [RO5 [RO6 [RO7

A07-001 | B B 157
A07-002 [ ] 40
A07-003 [ B B B 127
A07-004 | | u | 509
A07-005 | B B 84




R03 |R04 [RO5 [RO6 [RO7

A07-006

.3km

1.2km

214




RO3 RO4
@) 102 106

(b) 0 0

(c=a+h) 102 106
(@ 74 26

e 150 124

® 26 8

0 0

(h = c+d-e-f) 0 0
(i = (g+h)/(c+d)) 0 0
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